[image: image1.jpg]E2-H

A

LR :

FH:

LIPS XD Rk 225 08

[us | - [ = = [ w [ = BTN

(72 | | [ | ]

o RE, (-6 MBI 0.5 4 SR 143623 4)

L A= FZMTETRATFE( ) B T R T A PR )o

2. BT 2017 4E 1 7 20 HAY I R R SRR E 1 8°C itk ( )C, W bR AR R
FTF 2T, i H( )C X TR A2 ( )T,
3¢ yiw=t o romson=( ) (UMID=( )i
41Tk 20 = ( ES 4.3m=( )i )T
3HF 1543 =( ) I 2.07 3 J k= ( )SLJi Ak

5 E%o. 66% 0. 67 F10. 6 3X PUA~HHH B KB ( ) H/NBOE Yo

6. —FIREAT FIHT Wb R R T ( )%,
7. MRS $ 2000 TEAT ASRAT , 77 IPIAE 77 B, A AR R A48 2. 259 VS, U7
(Exil=Nq )JE,
8. N RE PR AR 4 K 7 3 JEDR IR RUR ( ) POT IR, FBUE (
)Tk
9. —AHM = MIVI PR BRI 3 KA 4 JBOK, B 5 K, WS LL 4 R K
FO LA A RS = SR TR e — 5 30— A B8 U, 3 A T A ) 785 2 )R,

AR ( ) DK PRBUR ) ST
10. BEBIEINT 20 TF 92 B, 4T 92 76, B 5 5 9 2 ), WA
( ) A AR )o

U FERGBITRUR S < 1 LR E, B ZFOR 2.5 IR, XA Z RS PRR BER ( )
K, ISR A AR H R 10 = 1 A PEIAE L 1 i%imi ( )k,

12.( )G R B AR ECR I 24 ) Bert AT AR A M 3R 4534
HRBZMIRER,

13, AT HAL 5 =Rk 10 4, 500 (

R,
Z IR, (1o, 05 )
1. AR b, 2250 W RO AT

2. FERE A ST 20% )5 SLFE( 209% I8 2 BN S5 T I5UA (
3. AR —AH 5P B A PR AL O, (
4. IRER R BB B 3 5. (
5.6 USRI S MG d, EOH A& EA 2 RIST, (
= BEERE RS SHE( VB, (ML 265 55)

L6 Jema [ mArsE )AL

Azl B.O 3 D. T
2. AE— SRR B REIE H IR, B (BUHERR ) O PRI 8 53 ( )o

A i B. ; & : D.2 %
3. AN ERG D TF FELRIE 7 A PR RO T AR S5 9 HE A Yo

A2m:1l Bow:l Chl D. TkHiE

4. —4REEAE) 150 TC, KAl A W I B AORL B R Yo

A JRIEHA] B. WU Het)
5. U T BR Y — R )o
A0 BEAIER AR B KL
C. BB BEECR—E R IUT
E S, (36324
1 EEGHH, (0.5 4,365 5)

X . | 7
By = 1276 9763=
6 25
+35% = —+6= =x19=
7+35% i 6 ng 9

C. AR LA

B. 1 BEAR B, WA A
D. FIYFIH, A

13 L
S 11.448.6=

VA HEIRIER 3 AR



[image: image2.jpg]2. BT RERTS AR R, (4 5r, 36 1248)

1.1 4
Sel; 1,6 7. 5% 43, 5x80%-0. 8
[ERAEIT) 5

3. TR LG, (53 5,39 5h)

! 2 0.75
wrg=Isxs s

N

4. R TR R TR, (64)

ARMEE, (1A 25,3641

R RREE, (3629 4)
Zx[('———} +—} 1. SEAEREBATHIE — 4 1< 1200 SRR, 5 — R I’QKH’J; R T R 40% ., B

LKA CGEMRER, FA LA HARE) (8 41)

2. LAHRE AW I L E Z It 7% , R EWL TR NATLE, BIMEER
T8, RS E S L AT 7200 T, RS — SRR RE AT (643)

»
S
W
wlo
alw

3. 4B—Hel 12,56 JEK 55 5 JHOK 8 4 JROK 917 (R AR M — A AR 4 JROK A9 B AT
W WANIRZEK? (647)

Sk 4. —FhAZ ZGRAK A FRELLA 15 1000, (451 3 53, B9 4)
(1)20 SESME AL 580

P

(2) 75 6000 serkH, BN iy

1 HEIE QR4 5 #SBIEEQ,
2. AL @S A I E T e 90°1 BIEIED),
3. HEIEGE 2 1 KR FIEIED,

(3) BUAEERAIX AL 500. 5 T 58, HEAHAA S LT 0




[image: image3.png]AILHFEURMNEE LS F S
1 120047080 12005 J5
248 -2 10 316 4 32 0.8 A
41020 4 300 3.25 2070 5.0.67 0.6
645 7.90 81256 6.8

9.4 3 368 10.92:20 4.6 —JHGH 4.6
105 5 10 & W 37
SV 2x 3V ax sV
=,.D 2.B 3.C 4A 5D
TR '
LS = W g
E)
3
36=3.4CFAIEK)

@

T Th
1

P
Rt wwrgon

ED

1200(1--4--40%) = 4800K)

P T 480 KWATHE
2. fif KIS x 50
(147%)2-95%x =200 =60000( )
3. 12, 56x5%4=251, 2y HOK)
£3. 14+(452)" =20( JIK)
Y A 20 K

4.(1)205 220000 52)
520 SEZHCEINK 20000 3.

1000

M 6 SELHE
(3)500.5 T3
Jrik ;50051

500500 500=500000( ) = 500 F 5.
Jrik: 00. 52 =0.5 T3
Jrik 1000 TR
500.5-0. 5500 F )

itk L 0s

00( T352)
LT REGH0.5 T LK 500 T30




